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Question 1: If the sum of the coefficients of all even powers of x in the product (1+x+x2
+.+x2) (1-x+x2-x3+ ..+ x2") is 61, then find the
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Question 2: If@nd B be the coefficients of x* and x? respectively in the expansion of (x
+V(x2-1))8 +Tx - V(x2-1)8, then:
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Question 3: Find the coefficient o the expansion of (l +x+x2)0,
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Question 4: If x is positive@n the expansion of
(1+ x@s n= 22 ‘ .
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Question 7: If
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having n radical signs then by methods of mathematical induction which is true
(a) ap < 7foralln=1

(b) ap>7foralln=1 0~v\= q‘_‘-ah' g(ﬁ <L
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(d)ap<4forallnz1
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Question 8: If the sum of the coefficients in the expansion of (a + b)"is 4096, then the
greatest coefficient in the expansion is

(a) 1594 (b) 924 (c) 792 (d) 2924



The value of C? + C3.... + C2 (where C; is the i coefficient of (1 +x)* expansion), is:
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(2n—1)!
(n-1)(n+1)!
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(n+2)!(n+1)!

(c)

(d) None of these
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